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10 sEugs/s
Area = 0,3 %

~(2)

{3) Area=0.7 2

Water flows steadily through the horizontal piping sys-
tem shown in Fig. P5.3. The velocity is uniform at section (1),
the mass flowrate is 10 slugs/s at section (2), and the velocity 15 fifs
is normmform at section (3). (a) Determme the . vaiue of the

quanuty — j pd¥., where the syqtem is the water contained
VE)

in the plpB bounded by sections (1), (2), and (3).-(b) Determine -

the mean velocity at section (2). {¢) Determine, if possible, the
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value of the integrai J pV « fi dA over section (3). If it is not
3 :
possible, explain what additional information is needed to do so.
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